Year 6 Division

Q1.
180 +3 =
1 mark
Q2.
120 + 12 =
1 mark
Q3.
91 +7 =
1 mark
Q4.
270+ 3=
1 mark
Q5.
95 +5 =

1 mark



Q6.
7,505 +5 =

1 mark
Q7.
8,628 + 4 =
1 mark
Q8.
2,416 + 8 =
1 mark
Qo.
3,500 +50 =
1 mark
Q10.
7,200 +~ 90 =
1 mark
Q11.
1,210+ 11 =

1 mark



Q12.
1,320 + 12 =

Q13.
5789 +7=

Q14.

43|645

1 mark

1 mark

Show
your
method

2 marks



Q15.
1 7

Show
your
method

Q16.

5,500 + 50 =

Q1

7.
3 7[8 88

2 marks

1 mark

Show
your
method

2 marks



Q18

8 3180 5 1

Show

your
method

Q19.

87

8827

2 marks

Show

your
method

2 marks



Q20.
59122 42

Show

your
method

Q21.
3712331

2 marks

—

Show

your
method

~— |

Q22.
347990

2 marks

—

Show

your
method

N

2 marks



